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(A) Enumerate the salient characteristics of Financial Statements. 7

OR

Give the illustrative format of Balance Sheet of a company/as per revised

Schedule VI of the Companies Act. 7
(B) Reply (any two) of the following : 4
(1)  Write note on uses and users of accounting information.
(2) Explain and differentiate briefly between AS and IFRS.
(3) Briefly explain the inventory valuation norms as per AS-2.
(C) Reply the following questions in one or two lines : 3
(1)  Which AS deals with Government Grant ?
(2) Mention the area covered by AS-16.
(3) List out the basic underlying assumptions while preparing Financial
Statements.
From the following information prepare projected Income Statement and Balance Sheet
of Zatpat Limited for the next financial year ending on 31* March, 2016. 14
Gross profit % 5,00,000
Gross profit (as % of sales) 25%
Stock turnover ratio (Based on cost of sales) 5 times
Average Debt collection period 3 months
Creditors’ velocity 3 months
Current ratio 2
Proprietary ratio (Fixed assets to Total Capital Employed) 80%
Capital Gearing Ratio (Pref. share capital and Debentures to ~ 30%
total capital employed)
Reserves‘and surplus to total Equity capital 25%
Ratio of General Reserve to Profit & Loss 3:2
Preference Share Capital to Debentures 2
Material cost 50% of cost of sales
JC-101 9 P.T.O.



Reserves and surplus includes only General Reserve and Profit & Loss A/c. Find out
also wages and production overheads, sundry expenses and bank overdraft.
Workings are essential.

OR

The following are the Balance Sheet of Money & Money Limited as on 31-3-2014 and

31-3-2015 :
(Amount in %)
Liabilities 31-3-14|31-3-15 Assets 31-3-14|31-3-15

Equity shares of ¥ 100| 2,000 | 3,400 |Fixed Assets : Cost 3,000 | 4,000
each Less: Depreciation Fund | 1,000 1,200
Security Premium - 100 [Net Block 2,000 | 2,800
General Reserve 400 450 |Investments 800 | 1,000
Capital Reserve 100 200 |[Stock 1,500 | 1,600
Profit & Loss A/c. 600 800 |Debtors 900 600
10% Convertible 1,000 500 | Bills Receivables 400 200
Debentures Bank Balance - 350
Creditors 500 400 |Preliminary Expenses 200 150
Bills Payable 150 200
Bank Overdraft 550 -
Taxation provision 300 350
Proposed Dividend 200 300

TOTAL 5,800 | 6,700 TOTAL 5,800 | 6,700

Additional Information for the year ending on 31-3-2015 :

(D
2)
3)
4
)

(6)
(7)

The company had issued new equity shares to equity shareholders as right shares
in the proportion.of 2 : 1 at par.

After issuing right shares the company converted 5 convertible Debenture of
%100 each, into 4 equity shares of ¥ 100 each.

One of the fixed assets costing ¥ 500 on which accumulated depreciation was
< 200 had been sold for ¥ 250.

Investment of ¥ 300 were sold at a profit which was credited to Capital Reserve.
Bad debts of ¥ 20 were written off.

Closing stock was undervalued by I 100.

Paid ¥ 250 as Tax for the year and also paid the proposed dividend of the last
year.

From the above information prepare Cash Flow Statement as per AS-3. Support your
workings.

JC-101
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3. (A) The Balance Sheet of a Limited Company as on 31* March, 2014 prepared on

(A)

JC-101

Historical Cost Method is given below :

Balance Sheet
Liabilities % Assets 4
Equity share capital 30,000 | Fixed Assets 24,000
Stock 6,000
Total 30,000 Total 30,000

The fixed assets shown in the above Balance Sheet were purchased on 31-3-2014

with estimated useful life of 5 years, without any scrap value. The transactions

during the year ended on 31* March, 2015 were as follows :

Particulars

Sales

Purchase — As per Historical Cost

Closing Stock — As per Historical Cost

Closing Stock — As per Replacement Cost

Closing of Sales'— As per Replacement Cost

4

48,000

15,000

4,200

5,040

21,000

It is estimated that the replacement cost of Fixed Assets as on 31-3-2015 would

be T 28.800.

From the details given above prepare Profit & Loss Statement for the year
2014-15 and Balance Sheet as on 31-03-2015 on the basis of (1) Historical Cost
Method (2) Replacement Cost Method.

OR

What is the necessity of Inflation Accounting ? Distinguish between the Historical

Accounting Method, Current Cost Accounting Method and Purchasing Power

Accounting Method.

11
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(B) The following data is of a Limited Company for the year ending on March 2014

and 2015 : 4
Particulars 31-03-2014 | 31-03-2015
() ®)
Share Capital 4,40,000 4,40,000
Profit & Loss A/c. 3,85,000 3,19,000
Bank Loan 9,35,000 8,47,000
Tax Provisions 3,85,000 3,19,000
Cash & Bank 7,15,000 1,10,000

If the increase in the value of Fixed Assets as per CCA on 1-4-2014 is ¥ 9,68,000
and as on 31-03-2015 it is ¥ 14,24,500 and increase in value of stock are ¥ 88,000
and T 1,32,000 respectively, calculate the Gearing adjustment as per CCA.

()
Depreciation Adjustment 25,630
Cost of Sale Adjustment 2,42.,000
Monetary Working Capital Adjustment 83,270
OR
(B) Differentiate between Value Added Statement and Profit & Loss Account. 4
(C) Reply the following questions.in one or two lines : 3

(1) Name any two methods being used in Human Resource Accounting.
(2) Give two advantages of Social Accounting.
(3) Give two limitations of Environmental Accounting.

4. (A) Followingare the details : 7
®)
Present Sales 1,50,000
Variable Costs 60,000
Fixed Costs 30,000

Ascertain the effect of 10% reduction of selling price on P/V ratio and BEP. Also,
calculate the sales required to maintain the profit at the present level.

OR
(A) ‘“Determination of Sunk Cost & Relevant Cost are essential for managerial
decision making.” Explain this statement with appropriate examples. 7

JC-101 12



(B) From the following information prepare the cash budget for the year 2016 : 7
(Amount in %)
Particulars Quarter-1 | Quarter-2 | Quarter-3| Quarter-4
Opening cash balance 10,000 - - -
Collected from debtors 1,25,000 | 1,62,600 | 1,60,000 | 2,21,000
Payments :
Purchase of Materials 20,000 35,000 35,000 54,200
Other Expenses 25,000 20,000 20,000 17,000
Salary & Wages 90,000 95,000 95,000 4 .1,09,200
Income Tax 5,200 - - -
Purchase of Machine - - - 20,000
The company desires to maintain a cash balance of ¥ 15,000 at the end of each
quarter. Amount can be borrowed or repaid-in the multiple of ¥ 1,000 at an
interest of 10% p.a. Management does not want to borrow cash more than what is
necessary and wants to repay as early.-as possible. In any event, loans cannot be
extended beyond four quarters. Interest on Returned amount of loan is paid when
the principal is repaid. Assume that borrowings can be taken at the beginning and
payments are made atthe end of quarter.
OR
(B) Differentiate between Fix and Flexible Budget & state the utility of Flexible
Budget. 7
Select the most appropriate answer from the alternatives given : 14
(1)! From the following details find out cash flow :
Opening and Closing Balance of Tax Provision are respectively ¥ 1,000 and
3 1,300. Tax Provision made during the year ¥ 1,500.
(a) ¥ 1,200 inflow (b) 1,200 outflow
(¢) 1,700 outflow (d) None of the above
JC-101 13 P.T.O.



(2) Which one of the following is not Cash Equivalent as per AS-3 ?
(a) Bank Balance (b) Long term Investment
(c)  Short term Investment (d) None of the above

(3) Calculate EPS from the following details :
Equity Share Capital (Fully paid) ¥ 1,00,000

Face value per share %10

Profit after tax % 25,000

Rate of Income Tax 30%

Preference shares dividend % 5,000

(a T1.25 (b) 2.00

(c) 250 (d) None of the above
(4) Calculate Liquid ratio from the following :

%

Total Current Assets 1,00,000

Stock 25,000

Total Current Liabilities 70,000

Bank Overdraft 10,000

Bank Balance 15,000

(@ 2 (b)y 1.25

(c) 1.67 (d) »None of the above

(5) The following cost datais made available :
Year - 2014 Year - 2015

Sales (%) 1,00,000 ?

Cost of Sales (R) 82,000 96,000

Profit (%) ? 24,000
Profit-Volume Ratio is

(@) 96% (b)) 30%

(© 70% (d) None of the above

(6). Marginof Safety is ¥ 2,00,000; variable cost to sales ratio is 75%. Find profit.
(a < 1,50,000
(b) 50,000
() ¥2,00,000
(d) None of the above

JC-101 14



(7) Find out required sales in units to earn the profit of I 8 per unit, from the given
below details :

4
Sales price per unit 40
Variable cost per unit 24
Fixed Expenses 1,20,000
(a) 5,000
(b) 15,000
() 7,500

(d) None of the above

(8) Find out fixed expenses from the following :
Margin of safety % 1,20,000
Break even point 40% of sales

Sales at Break even point 8,000 units

Variable cost per unit 6
(a) 80,000
(b) 32,000
(c) 348,000

(d) None of the above

(9) A company had closing stock of 5,000 kgs on hand on 1-4-2015 which is valued
at T 12 per kg. Of this 4,000 kgs were sold during the year. If the value of stock at
the end of the year.is-¥ 16 per kg., what is the amount to be transferred to Reserve
for Current Cost Accounting ?

(@) 12,000
(b)  T4,000
() 16,000

(d) None of the above

(10) Which one of the following models does not deal with Human Resource
Accounting ?

(a) «Lev and Schwartz model
(b) Robert & Thomson model
(c) Jaggi-Lau’ model

(d) None of the above
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(11) On 1-4-2013, a company purchased a machine for I 1,00,000. Its replacement
value as on 31-03-14 was ¥ 1,25,000. The machine was sold for ¥ 1,60,000 during
the year 2014-15. The replacement value of the machine at the time of sales was
% 1,52,000. What is holding gain for the year 2013-14 and 2014-15 ?

(a)
(b)
(©)
(d)

% 27,000 and ¥ 25,000 respectively
¥ 25,000 and ¥ 27,000 respectively
¥ 25,000 and ¥ 35,000 respectively

None of the above

(12) Which of the following Financial Statements is not mandatory to prepate for a
Listed Company ?

(a)
(b)
(©)
(d)

Cash Flow Statement
Funds Flow Statement
Balance Sheet

None of the above

(13) The full form of IFRS is

()
(b)
(©
(d)

Indian Financial Record Standard
International Financial Reporting Standard
Indian Financial Reporting Standard

None of the above

(14) The scope of AS-9 is

()
(b)
(©
(d)

JC-101

Disclosure of Accounting Policies
Revenue Recognition
Contingencies and Event occurring after the Balance Sheet Date

None of the above
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